7— o , :
J d % Chuyén dbi Phan sb thanh Phan trim
KX

A
g3

Tén:_ Ngaythang:_ Piém:__
100% = 11% =
9% = 72% =
39% = 80% =
47% = 27% =
T1% = 31% =
1% = 39% =
11% = 98% =
35% = 12% =
76% = 33% =
46% = 8% =

www.snowmath.com


https://www.snowmath.com

FO I

Chuyén d6i Phan s6 thanh Phan tram

=5
(8]
Tén:
100% = 1
e
°7 100
390 = 2
°7 100
47% = A7
°7 100
T10p = -
°7 100
10 = -
°7 100
119 = =
°7 100
=L
°7 20
76% = =
°7 25
o= 2
°7 50

1% =
°7 100

7904 — 1
°7 25

80% =

(O NN

27% = 27
°7 100

o= 3L
°7 100

S
°7 100

089 =
°7 50

of =
12% G

330 = oo
°7 100

i 2
DY

www.snowmath.com

Ngay thang:

Piém:



https://www.snowmath.com

